3.3 Piecew"ljunctions ('Q’t')
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Algebraically -
2x+8,  (x<-2" |
f(x)={x2-—3, -2<x<3
vx+3, x>3
’ f(-2)=
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| Graphically .
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Constant-

- - fO= 2
f&=3)= 7S | fen=|
rco- DI w2
f(—'l')"' f3) = 3 :
'p(‘ﬂ=2. = 4 = = —.LJ
fed=-2 - DNE T =

TRY IT!

—2x+1 x<0 »
fx) = {3x 5 2 5 f(x)=[2x_—4, x>2

A 1
A £

N _ /
X r4 ¥

A
7
A 4
A
%
\ 4

Scanned with CamScanner



3.3 Piecewise Functions PRACTICE |

Use the piecewise function to evaluate the following.

1.
—2x2 -1, x<2 x3 = 7x, x<-3
f(x)=[4 f(x) =48, -3<x<3
—x—4, >2
3 x vz +3, x>3

2 (Y 4(5)- L
2{0V-) S( T -nses ) =R =@)

c. f(2) = d f(-3)= c. f(0)= 5 d f3) = 8

20V 2y A o -

e. F(2)-3F(0)= e. Z‘PCH)-I-%'rC(O%;
~q-2(-"N=z-%+3=(~ o) 2(<) + 3(8) =l +24 =34

4

a. f(0) = ED b. f(5) O a. f(-5) = b f1D) =
) 165V3-T8) . V2O
4

3 .
3 <—5 12x + 7], x<s—4
F)= x+4' o 14+x%, —-4<x<1
T )x%2-3x, -5<x<0 f(x)=16, 1< x<3
‘ 1
x* =7, x>0 §x+8, g

a. 1’(—1)-= b. f(4) = a f(5) = b f(1) =
(=N*-3E) ()T L5858 1+ =(2)
1+3:(4)  256-1(19)

3(4) = 249 = 12-24942237) |-1] =(])
b. f(4) = Li
.mm: | e

c. f(-10)= & () = c. f(—4) = i f@
3 {-L} (o\=3(0)= k @
B s (0\*-3(0) @ !2( “’\*‘"\
=43
s
£, FOOO LY== Y21 )

3 =24
e. 3PE)-£H)= | ~6*7)
a f(-1)= O ....... — a f(=3) = -—3
. - } ) f(—1)="bp\)E
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af@= 7

b f(-1) =

Caf-9=

b= |

. f(-3)= =

— o f®= 0

& f@=|

4 f@=—|

e. f(15) == Zs

Graph the following piecewise functions.

.(x) =1whenx= “'2‘) e ‘
> ¥ x-intercept(s) = (-L{ ' Q)

(2,0)

9. 4 10. 2
2x +3, x<0 1
f@=11 1 x>0 2 @)= [__x bRk
B ) # 2, x>3 N -
< f cr/ n ‘”"\ | o
Y
v v
11. A 7{” 12 A
f(x)={2x—x6, ’;22 _ §x+3, x=<0 IM
! f)=43, 0<x<2
< 1 <4 y < B
‘ —Ex, x=2 » \
7 \\
N\
v v
ALGEBRA SKILLZ!
SIMPLIFY SOLVE
Simplify the radical. Solve for x.
a. ,i 2_\[ a 15=244
| | 4 b I} =S
e e Lo R ,; e —
ey f(_._g - 3 b. 430 8 \’-’-‘5 FACTOR
A b. x2=-12x+35
b y—mtercept = CO 7—) 4D (Y\ -‘ H s‘ )
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